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O STHAEA =& 2AXA 85,582,000€ | ( 85,582)] ( 145,519)] ( A59,937)
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= 2,051
i 4,706
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— AHEHOIQMA =EHE2 A OIS
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o= 336
o 864
02 32244 14,000 20,000 26,000
= 8,400
= 1,574
i 4,026
= Ol &F 14,000 20,000 26,000
= 8,400
< 1,574
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= 26
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= 25,000
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101 oIyl 27,000 34,000 A7,000
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< 53,298
= 124,362
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S A oA 1}
B NRRES (S SA/UY - AE)
CHel: MENREES (ol mm
S-S C(BH) - MEAR - HAS é%i) @%ﬁﬁlﬁ% H D=2
= 1,327
O W = 18,800
~ GEESEIN 2922 7Y
400,000 * 47=F 18,800
== 7,520
== 3,384
= 7,896
02 =294l 5,000 3,510 1,490
= 2,000
& 900
= 2,100
= 04 &F 5,000 3,510 1,490
= 2,000
== 900
= 2,100
O A2 &H|IS Xl 5,000
— SFolZtAIDt0I2E FAIE S
5,000,000& = 1CH 5,000
= 2,000
< 900
= 2,100
303 EAZ 4,180 0 4,180
= 1,672
< 752
= 1,756
01 ZEA2 4,180 0 4,180
= {672
= 752
= 1,756
= 0 AF 4,180 0 4,180
== 1,672
o= 752
= 1,756
O =283 S| 20,000& = 2093/ 4,180
= 1,672
< 752
= 1,756
401 AlEHIZXL208] 12,740 12,740 0
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¢ MENRAES (&2 &2
S EB O (B) - NIPAY - BAS (o) T Yl DZ 2t
401 A&HIZ20H] = 5,096
= 2,293
= 5,351
01 Al&H| 12,740 12,740 0
= 5,096
= 2,293
= 5,351
= 04l &F 12,740 12,740 0
= 5,096
& 2,293
= 5,351
O AEEX 0282 =4
4,246,600& * 3ha 12,740
= 5,096
& 2,293
= 5,351
405 KHAHFSHI 49,300 8,900 40,400
= 19,720
< 8,874
= 20,706
01 AL EEFSHI 49,300 8,900 40,400
= 19,720
& 8,874
= 20,706
= 0 &t 49,300 8,900 40,400
= 19,720
= 8,874
= 20,706
O &g XN&x 2L 45,000,000& * 1CH 45,000
= 18,000
< 8,100
= 18,900
O sl&E 28I 2 800,000& * 1CH 800
= 320
& 144
= 336
O JIAHE a2 HGAAE(AY) 2L
3,500,000& = 1CH 3,500
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S ol 2AarE
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SR JMENRES CER:E
l:’A-I .I‘liH.l:l-ol(s;;’lj:“).k”‘:'Al.O'i . HAXZ |/‘l|-% EIEEO#I/&“;H t”DLZD"
= 1,400
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i 1,470
Bs= ZHl 150,000 72,000 78,000
< 33,600
o 116, 400
401 AlEHIZ R0 150,000 72,000 78,000
< 33,600
i 116,400
01 Al&HI 149,194 71,352 77,842
= 33,358
[ 115,836
= 0l &F 149,194 71,352 77,842
< 33,358
i 115,836
O EX=s 2 ==+ E4
3,000,000& * 10= 30,000
O B3+ EXE Fh 400,000& * 202 8,000
O BS54 JUlArd(282) 111,194,000& 111,194
= 33,358
i 77,836
03 Al&=0Hdl 806 648 158
= 242
[ia 564
20l & 806 648 158
< 242
A 564
O Es+ ALY 806,000& 806
< 242
[ia 564
A2 W TBRE BHOE 71,049 64,127 6,922
< 15,645
[in 55,404
101 QI2dd| 56,700 63,000 26,300
< 11,340
= 45,360
04 JIZHZ2Z2NEES 56,700 63,000 6,300
= 11,340
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01 AT =SSF=HI 13,000 0 13,000
= 3,900
fiis 9,100
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O agRolwsI)]| 2
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i 9,100
ASAL (A ZRES) 243,826 121,500 122,326
308 AXIHHMSOIH 243,826 121,500 122,326
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= 0l &t 243,826 121,500 122,326
O dEeAZeAFY (111 171,000, 000& 171,000
O AZE XA 36,076,000& 36,076
O HFE2HAS 28,650,000& 28,650
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MEZASUZSRA 1S HH| 2,967 0 2,967
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